
 

  

MAY 2011 U/ID 46434/UCCD 

Time : Three hours Maximum : 100 marks 

PART A — (10 × 3 = 30 marks) 

Answer any TEN questions. 

All questions carry equal marks. 

1. What are the functions of Accounting? 

 PnUQ¯¼ß £oPÒ ¯õøÁ? 

2. Explain entity concept. 

 Gsimi Põßö\¨møh ÂÍUSP. 

3. Explain fixed assets and give two examples. 

 {µ¢uµ ö\õzøu ÂÍUSP. Cµsk Euõµn® u¸P. 

4. Classify the account. 

 PnUQß ÁøPPøÍ TÖP. 

5. Explain Stock and Debtors System. 

 \µUS ©ØÖ® PhÚõÍºPÒ •øÓø¯ ÂÍUSP. 

6. State the importance of invoice price method. 

 \µUS¨ £mi¯À Âø» •øÓ°ß •UQ¯zxÁzøu TÖP. 

7. Explain perpectual inventory system. 

 {ø»¯õÚ \µUS C¸¨¦ •øÓø¯ ÂÍUSP. 

8. Give formula for calculation of maximum stock level. 

 AvP \µUS C¸¨¦ AÍøÁ PnUQh ÷uøÁ¯õÚ Áõ´¨£õmøh 

TÖP. 

9. Expand LIFO and FIFO. 

 LIFO ©ØÖ® FIFO &øÁ Â›Ä£kzx. 

10. What are the causes for labour turnover? 

 EøÇ¨£õÍº Á¸øPUS BÚ Põµn[PÒ ¯õøÁ? 
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11. What are the limitations of accounting ratio? 

 PnUQ¯À ÂQuzvß SøÓ£õkPÒ ¯õøÁ? 

12. What are called solvency ratio? 

 AvP ö\õzx ÂQu® GßÓõÀ GßÚ? 

PART B — (5 × 6 = 30 marks) 

Answer any FIVE questions. 

All questions carry equal marks. 

13. Discuss the errors that affect the agreement of Trial Balance. 

 C¸¨¦ {ø»¨ £mi¯ø» £õvUPU Ti¯ ¤øÇPøÍ ÂÍUSP. 

14. X owes Y the following amounts : 

 Rs. 2,400 due 31.1.2000; Rs. 3,600 due 30.4.2000; Rs. 300 due 

31.5.2000. 

 Y owes X the following amounts : 

 Rs. 900 due 28.2.2000; Rs. 1,200 due 31.3.2000; Rs. 200 due 

15.5.2000. 

 Find the average due date for a settlement in one sum. 

 GUì J´US öPõkUP ÷Ási¯ öuõøP : 

 ¹. 2,400 •uÀ 31.1.2000; ¹. 3,600 •vºÄ 30.4.2000; ¹. 300 •vºÄ 
31.5.2000. 

 J´, GUì&US öPõkUP ÷Ási¯ öuõøP : 

 ¹. 900 •vºÄ 28.2.2000; ¹. 1,200 •vºÄ ¹. 30.4.2000; ¹. 200 
•vºÄ 15.5.2000. 

 J÷µ öuõøP°À ö\¾zxÁuØPõÚ \µõ\› {¾øÁø¯ PõsP. 

15. Explain types of partners. 

 TmhõÎPÎß ÁøPø¯ ÂÍUSP. 

16. A has purchased a sofa-set for Rs. 12,000 payable in 12 quarterly 

instalments of Rs. 1,000 each. The agreement provided that the 

hirer should pay Rs. 1,200 if he wished to terminate the 

agreement. Find out the amount payable by A if he wishes  

to terminate the agreement after the payment of 3 instalments. 

 A Gß£Áº J¸ ö©zøu |õØPõ¼ø¯ ¹. 12,000US Áõ[Q ¹. 1,000 
Ãu® 12 PõÀ Bsk uÁøn°À PmkQßÓõº. ö£õ¸øÍ Áõ[Q¯Áº 
J¨£¢uzøu •ÔUS® ÷£õx ¹. 1,200 ö\¾zu ÷Ásk®. 3 
uÁønPÒ Pmi¯Ähß J¨£¢uzøu A •ÔzxU öPõÒÐ®÷£õx 
ö\¾zu ÷Ási¯ öuõøP GÆÁÍÄ? 
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17. X and Y sharing profits in the ratio of 7 : 3 admit Z on 3/7 ths 

share in the new firm which he takes 2/7 ths from X and 1/7ths 

from Y. Calculate new ratio of partners. 

 GUì ©ØÖ® J´ 7 : 3 GßÓ ÂQuzvÀ »õ£zøu £Qº¢x öPõÒÐ® 
TmhõÎPÒ J¸ ¦v¯ {ÖÁÚzvÀ áºm Gß£Áøµ 3/7 £[SUS ¦v¯ 
TmhõÎ¯õP ÷\ºzxU öPõshÚº. Aøu GUì Gß£›h® 2/7 
£[øP²® J´ Gß£Á›hª¸¢x 1/7 £[øP²® áºm ö£ØÖU 
öPõshõº. ¦v¯ »õ£ ÂQuzøu PõsP. 

18. Under what circumstances may selling prices be reduced to 

marginal cost? 

 G¢u `Ì{ø»PÎÀ AhUP Âø»ø¯ Âh SøÓÁõP ÂØ£øÚ 
Âø»ø¯ {ºn°UP •i²®? 

19. Find out the economic ordering quantity and the frequency of 

the orders in terms of days from the following particulars : 

 Annual usage Rs. 1,20,000; Cost of placing and receiving one 

order Rs. 60; Annual carrying cost = 10% of inventory value. 

 R÷Ç öPõkUP¨£mkÒÍ Â£µ[PÎ¼¸¢x ]UPÚ Bøn 
AÍøÁ²®, |õmPÎÀ BønPÒ öPõkUS® GsoUøP²® PõsP. 

 Bsk E£÷¯õP® ¹. 1,20,000; Bøn öPõkUP, ö£Ó BS® ö\»Ä 
¹. 60% ©ØÖ® BskUS Gkzx Á¸® ö\»Ä = \µUS ©v¨¤À 10 
\uÃu®. 

PART C — (4 × 10 = 40 marks) 

Answer any FOUR questions. 

All questions carry equal marks. 

20. Define Depreciation. Discuss the causes of depreciation. 

 ÷u´©õÚ® Gß£øu ÂÍUSP. ÷u´©õÚzvØPõÚ Põµn[PøÍ 

ÂÍUSP. 

21. A business man has two Departments X and Y. X transfers 1/5 of 

its output to Y and Y 1/10 to X. All goods are transferred at 1/6 

profit on sale price. From the following information prepare 

statement of cost of two departments. 

 X Dept. Y Dept. 

 Rs. Rs. 

Raw material used (without including transfers) 76,516 42,730 

Indirect expenses 41,360 21,184 

Direct expenses 42,124 36,086 



 

 U/ID 46434/UCCD 4 

 J¸ Â¯õ£õ› GUì ©ØÖ® J´ GßÓ Cµsk xøÓPøÍ 

øÁzxÒÍõº. GUì 1/5 £[S EØ£zvø¯ J´US®; J´ 1/10 £[S 

EØ£zvø¯ GUìUS® ©õØÖQßÓx. GÀ»õ ©õØÓ•® ÂØ£øÚ 

Âø»°À 1/6 »õ£® öPõshuõS®. RÌPsh Â£µ[PÎ¼¸¢x 

Âø»¨ £mi¯ø» Cµsk xøÓPÐUS® u¯õº ö\´P. 

 X xøÓ Y xøÓ 

 ¹. ¹. 

E£÷¯õP¨£kzu¨£mh ‰»¨ö£õ¸ÒPÒ  
(©õØÓ® ö\´¯õ©À) 

 

76,516 

 

42,730 

©øÓ•P ö\»ÄPÒ 41,360 21,184 

÷|µi ö\»ÄPÒ 42,124 36,086 

22. Discuss the methods of Absorption of Overhead. 

 ÷©ÀÁøµa ö\»øÁ JxURk ö\´²® •øÓPøÍ ÂÍUSP. 

23. Balan and Balu were partners sharing their profits in the ratio 

of 3 : 2. Their position as on 31.3.2001 was as under : 

Liabilities Rs. Assets Rs. 

Balan capital 12,000 Building 8,000 

Balu capital 10,000 Plant 10,000 

Reserve 12,000 Sundry Debtors 11,000 

Workmen’s compensation fund 4,000 Stock 12,000 

Sundry creditors 12,000 Cash at  bank 9,000 

 50,000  50,000 

 They decided to admit Ashok for a 20% profit on the following 

terms : 

 (a) The liability on workman’s compensation fund is to be 

determined at Rs. 2,000. 

 (b) Ashok was to bring in further cash of Rs. 20,000 towards 

his capital. 

 (c) Reserve is to be maintained at its original value. 

 (d) Rs. 2,000 creditors were paid at 5% discount.  

  Prepare capital accounts of the partners. 
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 £õ»ß ©ØÖ® £õ¾ C»õ£zvÀ 3 : 2 GßÓ ÃuzvÀ £Qº¢x öPõÒÐ® 

TmhõÎPÒ. 31.3.2001 AßÖ AÁºPÐøh¯ C¸¨¦{ø» SÔ¨¦ : 

ö£õÖ¨¦PÒ ¹. ö\õzxUPÒ ¹. 

£õ»ß •uÀ 12,000 Pmih® 8,000 

£õ¾ •uÀ 10,000 ö£õÔ 10,000 

Põ¨¦  12,000 £Ø£» PhÚõÎPÒ 11,000 

EøÇ¨£õÍº CÇ¨¦ {v 4,000 \µUS 12,000 

£Ø£» PhÜ¢÷uõº 12,000 Á[Q°À EÒÍ 
öµõUP® 

 

9,000 

 50,000  50,000 

 AÁºPÒ A÷\õU Gß£Áøµ 20% C»õ£zvØS RÌPsh 
{£¢uøÚPÎÀ TmhõÎ¯õP ÷\ºzxU öPõshÚº. 

 (A) EøÇ¨£õÍº CÇ¨¦ {v ö£õÖ¨¦ ¹. 2,000 GÚ 
wº©õÛUP¨£mhx. 

 (B) A÷\õU AÁ¸øh¯ ‰»uÚ £[SUPõP ¹.20,000 öPõsk Áµ 
÷Ásk®. 

 (C) Põ¨¦ G¢u ©õØÓ•® CÀø» 

 (D) PhÜ¢÷uõº ¹. 2,000 5% PÈÄhß öPõkUP¨£mhx. 

  TmhõÎPÎß ‰»uÚU PnUøP u¯õº ö\´P. 

24. What are the requirements of a good budgetary control system? 

 J¸ |À» vmhU Pmk¨£õmk •øÓUS ÷uøÁ¯õÚøÁ ¯õøÁ? 

25. Balance Sheet of Kumar for the year ended 31st March 2007 and 

2008 are as follows : 

Liabilities 2007  2008 Assets 2007  2008 

 Rs.  Rs.  Rs.  Rs. 

Share capital 80,000 1,20,000 Premises 55,400  1,13,200

Share premium 8,000 12,000 Plant 35,600  51,300

Reserve 6,000 9,000 Furniture 2,400  1,500

P & L a/c 19,500 20,800 Stock 22,100  26,000

Debentures — 26,000 Debtors 36,500  39,100

Income tax 9,800 10,900 Bank 4,800  4,000

Creditors 33,500 36,400   

 1,56,800 2,35,100  1,56,800  2,35,100

 Depreciation written off during the year 2008 was as follows : 

 Plant Rs. 12,800; Furniture Rs. 400. 

 Prepare a statement of sources and uses of funds. 
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 S©õ›ß 31.3.2007 ©ØÖ® 31.3.2008 AßÖ EÒÍ C¸¨¦{ø» 
SÔ¨¦PÒ R÷Ç öPõkUP¨£mkÒÍx. 

ö£õÖ¨¦PÒ 2007  2008 ö\õzxUPÒ 2007  2008 

 ¹.  ¹.  ¹.  ¹. 

£[S •uÀ 80,000 1,20,000 {»® 55,400  1,13,200

£[S ¤›¯® 8,000 12,000 ö£õÔ 35,600  51,300

Põ¨¦ 6,000 9,000 ©øÚzxøn 
ö£õ¸ÒPÒ 

2,400  1,500

»õ£ |mhU 
P/S 

19,500 20,800 \µUS 22,100  26,000

Phß 
£zvµ[PÒ 

— 26,000 PhÚõÎPÒ 36,500  39,100

Á¸©õÚ Á› 9,800 10,900 Á[Q 4,800  4,000

PhÜ¢÷uõº 33,500 36,400   

 1,56,800 2,35,100  1,56,800  2,35,100

    ÷u´©õÚ® GkUP ÷Ási¯x 2008&B® BsiØPS : 

 ö£õÔ ¹. 12,800; ©øÚzxøn ö£õ¸ÒPÒ ¹. 400; 

 ÁµÄ £¯ß£õk £mi¯ø» u¯õº ö\´P.  

—————— 


